
 
 
 

0           1          3          2          6         7           5          4 

a) Start with the previous horizontally generated map 

     0          1          3          2          6          7          5         4 
 
   
         8         9          11         10       14         15       13         12 

 
 
Figure 6.   Vertical Generation of Karnaugh Map Cells 
 
 
 

     0          1           3         2           6         7          5          4 
 
 
     8          9           11       10        14        15        13        12 
 
        24        25         27        26       30        31        29        28 
 
                 16        17        19         18       22         23       21        20 

b) Add eight to all corresponding previous cell values. 

c) Add sixteen to all corresponding previous cell values. 


